CALC 203
MIDTERM EXAM FORMULA SHEET

< Assume u & v are the functions of x.

Differentiation:
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Integration:
J'u”du= u™ +C (n=-1) J‘E du=Inju[+C Ie”du=e”+C
n+1 u
jsinu du=—cosu+C Icosu du=sinu+C Itanu du =—In|cosu|+C
_[cotu du =Insinu|+C jsecu du =Injsecu+tanu|+C Icscu du =Injcscu —cotu|+C
_[sinzu du=%—5in2u+c Icoszudu=%+5in2u+c Itanzu du=tanu—u+C
J‘cotzu du=—cotu—u+C jseczu du=tanu+C Icsczu du=—cotu+C
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Yow =72 j f (x)dx rms = -~ j [£ (x)]?dx

By Parts Iu dv = uv—jvdu



Properties of Logarithm:
INAB=InA+InB |n§=|nA—|nB INA" =PIn A

Trignometric Substitutiion :
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Jvx*+a? Letx=atand, +x*+a®=asechd 3
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Ja’—x* Letx=asingd, +a*—x®=acosé A

N
Jx?—a? Letx=asecHd, +x*—-a’=atané - x-a

Trignometric Identities :

sin@+cos*@ =1 1+tan’*@ =sec?* @ 1+cot? @ =csc? 6

8806’2L csco :_L cotéd :L
cosé sinéd tan @



